<C2> SEQUENCES AND SERIES Answers - Worksheet B

1 a r=201+27=2 2 k+d _ 3k+2
k-8 k+4
ax(2)yY=27 (k+4)° = Bk +2)(k-8)
a=1x27=48 K —15k—16=0
b S.=-= %—192 (k+1)(k—16)=0
k>0 - k=16
b u=8u,=20 -.a=8r=3
ug=8x () = 781%
5,10
-1
¢ S0=307 508573
3 1
3 a ar=75,ar4=129.6 4 a S,,=a+ar+ar2+... ar" P+ a !
r=129.6 +75=1.728 rS,=ar+ar+ar+ ... a’" "'+ ar
r=231.728 =12 subtracting,
a=75+12=625 S,—rS,=a—ar"
b u=62.5x(12)Y°=3225 (1-rS,=a(l ="
12 n
¢ Sp= 62.5(12)" ~1] _ 5473 g S = a(l-r")
1.2-1 1-r
p A= (? = 126(+/2 +1)
1—(I) =63(\2 + (1 -2)
1-(N2)'=631-2)
(N2)' =64
2" =28
n=12
5 a 118 ~ 15 6 a S$=53-1)=130
r
L l-r=18=12 S,=5(3*-1)=40
r=-0.2 M3:S3—Szz90
b u;=18x(-0.2)*=0.72 b S,_,=53"""-1)
8
¢ Sg= % = 14.9999616 Up=S,—S,_1=53"=1)=53""" = 1)
S.. — S5 =0.000 0384 =5[3"-3"""1=53"[1- 1]1= 123"
7  a 4x(1.25)=19.1 mm (3sf) 8 a ar=30,ar=27 .. r=27+30=0.09
b GP: a=4,r=125 >0 -or=+/0.09 =03
20
Szo=%=l37l.8mm a=30+03=100
~ length = 1.37 m (3sf) b S. —%—1429(1@)
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13

15

GP: a=27,r=3

8
Sy = 27(3_‘1) = 88560
15

Yy 2

r=1

GP,a=2,r=2

15
Y 12r: AP,a=12,d=12

r=1

Sis= 1524 + (14 x 12)] = 1440

15
Y (2" - 127) = 65534 — 1440 = 64 094

r=1

-
ug=4><(%) :i

u,=4x (L)

=8(1-27)
=8-(2°x2™)
=8-2°""

a+ar*=a(l+r)=150
ar+ar =ar(1 + 1) =-75

L r=-75+150= —1
a=150+3 =120
S = 120 =30

-1

after 4™ bounce,
reaches 3 x (0.6)* = 0.3888 m
total distance
=h+2[0.6h + (0.6)*h + (0.6)’h + ...]
=h+2xS.0fGP,a=0.6h,r=0.6
_ 4 2X06h
1-0.6
= h + 3h = 4h metres
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14

a=64, ar* —ar=20

. 6417 — 64r =20

16/ —16r—5=0

(4r+ 1)(4r-5)=0

r=—% or%

r=-1 = u=64x(-1)=-1

r=3 = u=64x(3y =125

r=-1 = 5= =511
1-(-H

ug=4x3°=2916

GP: a=12,r=3

St: 12(31—1) :6(3t_1)

3-1
L 6(3' = 1)>10%

25
3> 107 +1

25
tlg3>1g(%+1)

g% +1)
g3
t>50.8

>

-. smallest r =51

b—a=QBa+4)-b
2b=4a+4
b=2a+2
2a+2 _ 6a+1

a _2a+2

Qa+2Y’=a(6a+ 1)

2a°-T7a—4=0

2a+1)a-4)=0
a integer .. a=4
sub. b=10



